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2) Solve any three from remaining five questions,
3) Draw neat sketches wherever require.
4) Assume suitable data if required.

1. A)
B)
C)
D)

2. A)
B)
3. A)
B)

4. A)
B)

Explain Softer and soft handoff in CDMA.

Define open loop closed loop and outer loop. pawar Gontrol . &
Explain concept of HSDPA w.r.t. WCDMA Y o ‘
What is the role of GPRS in GSM? ek B Y

What is localization in wireless SEI’IS{}I' netwurk’? Explam Wli‘ fc_iémples
centralized and Distributed schemes in localization aigurithms

Give the distributed radio access nﬂtwurk OVerview. E}gplam in detail
functions of node 3 and RNﬂ‘ﬁlsﬂ draw UTRAN qumal a;uhltacture

What is UMTS? List 1mpﬂrtant feamres &U}ﬂ‘&‘aﬁ* mtarfacﬁ

Explain middleware architccture \;. &

.....

(a) data Erlangs (b) tlma aloi: (’1‘3) ﬁ*ﬁthzatmn a.nd (c} TS capamty
Use the following data: ._».;Zi i
No of BTS: 40 o _
. :_Subsenbar usage pert month 150 minutes
. Dayb‘;p&rmnnth 24
.o _Bumcu;s* per da}r 6
® ,Al,quated spe[:trum 4.8 MHZ
o Ereqnenc:y relise plan 4112
' RF channel width: 200°kHz (full rate)
"% Present number of subseribers in a zone: 50,000
_ . 'Subscn_bcl; growth per year: 5%
B P Network -mll-;in}fé_r.-,;ﬁeriod: 4 years

£ .-}-L'F < s Number of packet calls per session (NPCS): 5
R T e s Number of packets within a packet call (NPP): 25

- »."Reading time between packet calls (77): 120 s
'» - Packet size (NBP); 480 bytes
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e Time interval between two packets ms:de a paﬁkct f;all (T"mt)

0.01s

» Total packet service holding time dunng mn: hnur {JI‘tu»t)

3000 s

e Busy hour packet sessions per subsc:nber 0. }5

e Average call holding time dunng bus}* hmtr ’IZH secnnds
e No. of transceivers (TXs) per cel] 3.5 i
e No. of TSs per cell for s1gna'{tmg 3 <

e Radio link control {RLC} efﬁﬁiency BU% :
e Total numbers of transmﬂ'tedfadm blﬂcks 9{31}0
e TSs allocated for data traffic ¢ per cell: 3

e Data throughput per celI 15. 5 kbps o
» Voice traffic.pe:r_ée__ll _,S.SZ.Er_l_angs_. &
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5. A) Describe the model r::f WIrt‘:less sensnr netwurﬁ&iﬁzhﬁt are ths facturs

influencing design of wireless sensor network. a‘f

'\1

B) Explain back off alg{}nthm why is CSMA-QHhoLfr&qd 111 WI.AN

..'~'-

Write short note on (an}? twu) T é?’f e
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A) IEEE80216 -« S S JON

C) Zlng:e Techﬂﬂu g}f
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